Chemistry Unit 5: Stoichiometry
Name: ______________________________ Period: ______ 

[bookmark: _GoBack]HW: Mole-Mass Conversions

Once the molar mass of a substance is known, it is fairly easy to calculate moles from grams or grams from moles.

Example 1: How many moles are present in 352 g of iron (III) oxide, Fe2O3?

Step 1: Calculate the molar mass of iron (III) oxide.

By adding the mass of two moles of iron atoms and three moles of oxygen atoms = 160 g

Step 2: Arrange the molar mass so the original units cancel and the desired units are on top.
1 mol Fe2O3
160.0 g Fe2O3

352 g of Fe2O3 x                         = 2.20 mol Fe2O3


Calculate the following: (You must show ALL WORK!)
1. How many moles are in 30 grams of H3PO4?




2. How many grams is 88.4 moles of NI3?




3. Convert 25 grams of HF to moles.





4. How many moles are in 22 grams of Ar?





5. How many grams are in 3.3 moles of potassium sulfide, K2S?




6. How many grams are in 0.02 moles of beryllium iodide, BeI2?




7. How many moles are in 32 g of sugar, C12H22O11?





8. How many grams are in 4.5 moles of NaF?





